™2 collegebatch.con

ofin|

Series SSRR3/3 SET-3
AUAAARVRA T

Q.P. Code 64/3/3

e .

Roll No. gﬁm % Tﬁ TR
Candidates must write the Q.P. Code
on the title page of the answer-book.

e NOTE

(D s JF = o 76 39 199 7 giga (D
U8 23 + 2 WHREA B |

(ID swn I & & T 3@ g=-93 ¥ (1D
30 T 2 |

Please check that this question paper
contains 23 printed pages + 2 Maps.

Please check that this question paper
contains 30 questions.

ok (D) y993 H e &Y il 3R few ww (1D Q.P. Code given on the right hand

k

% Y99 IS I FEnel Ia-giedn

8 TEEwi |

V) Fum wwm w5 s e iE w9 A (V)
k Ugel, IW-YRawt ¥ U9 w1 HAEH

% srava fore |

(V) 38 9-99 il 94 o foig 15 e &1 (V)
oy fean T ® | TRH-UA I faaw
qEiE H 1015 SN feRam SO |
10.15 91 ¥ 10.30 SN dh D Hhdd
Y9 Rl Tl 3 39 TafY o N
I IT-YEIHT W D3 IR T T |

side of the question paper should be
written on the title page of the
answer-book by the candidate.

Please write down the serial
number of the question in the
answer-book before attempting it.

15 minute time has been allotted to
read this question paper. The
question paper will be distributed
at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will
read the question paper only and
will not write any answer on the
answer-book during this period.

et (V=)

GEOGRAPHY (Theory)

64/3/3-13 1


https://www.collegebatch.com/exams?utm_source=pdf

™2 collegebatch.con

GTaT=T 7597 :
Tl 3 &1 SarTye gy 37K 37T GIeTT T ;

(1)
(ii)
(iii)

(iv)
(v)

(vi)
(vii)
(viii)

(ix)

$4 J77-9 4 30 Jo7 & | U Io SrfAard & | ,

Y97 qie @Us] 4 [q9ISid & - @UE &, @, T, TG F/ ,
?vaa;-my@r1#17wa§7%am?aw%m?/mm1mw
/

&V & — Y97 &7 18 TS 19 GId-3TERT J97 & | Ideh T34 3 371 7 & /
GUE I -y GBI 20 & 23 7% TY-IHIT YR & Jo7 8 | Jedd J97 3 3l Hl
g | Y9 J97 %7 3T 80 & 100 551 7 [o7Er 7 =ey |

&UE T - 57;9727@724#286?%73dd</e/}/qe/<%5/@—/?/}7&?&717?7537#%7?/
Yedsh I &7 IR 120 @ 150 Fsgl 7 1o7@7 57 F1isq |

EUE T — Y97 G&I7 29 TF 30 HHIT STERT I97 & | 9% J97 5 3H] H1 & |
g 3Tlans, ewél%g@wfww?ﬁa%%%vvﬁz?awnnﬁym%amﬁ?ﬁ
T} & €I T TF S F9 AT T & | 7 I & I a7 Groanti qoandt &

ford |
W—WﬁW?@W?@?@WﬂW?/Wﬁ GUE & @ Ilalkeh I GUSl & P&
991 § TR IdhcT HT 997 1397 737 & |

EUs <h

o7 &7 1 & 17 Fg195c919 JHR & 597 8 | 17x1=17

1.

64/3/3-13 2

e Q HY I W 1% &9 H U TC & | QI ol I AMYEh Tieu HN Fal
faehcd 1 = hIGT -

Fo7 [ : AU T hamhadl o1 STeEiad fhm ST Fehal ® |
HITII: ¥ FAN AR §9 & FEEAT a7 TR R GG 781 8t & |
foreped

(A) 99 1 GE 3, Tg YA 11 Teid # |

(B) assaﬂnm% T HA 11 T80 2 |

(©) %%Iﬁ?ﬂﬁﬂﬁ%aﬁ?$ﬁ‘ﬂﬂ Y I &l TE AT 7 |

(D) e I 3R [ gHT Tt &, W %A 11, A [ ht Jel e 787 7 |

2 2 wed few U § | A sfiepdd (A) 3 SO (R) B | @F1 Ul W

YA iU 3R TE fashed o1 w=H HifT .
37T (A) : Th Tl & 1 Th TE@YUl DI ¢ |
HRU(R): AU g Ghaekemai 1 e F e afie SR

STaETe gfee ¥ TRifea faemsi g foram Sran 2 |
IEETR IR
(A) (A ¥El 8, WY (R) Tid & |
(B) (A)W% (R)EE R |
© (A) I R) T @l 8 31 (R), (A) 1 &l ATSA 2 |
(D) (A 3R (R)THI T&l 8, TG (R), (A) sl T&t =& 737 7 |

VWV


https://www.collegebatch.com/exams?utm_source=pdf

oD @collegebqtch_com

s

General Instructions :

Read the following instructions carefully and follow them :

(i) This questions paper contains 30 questions. All questions are compulsory.

(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iti) Section A - Questions no. 1 to 17 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 18 and 19 are Source-based questions. Each
question carries 3 marks.

(v)  Section C — Questions no. 20 to 23 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions shall be written in
80 to 100 words.

(vi) Section D — Questions no. 24 to 28 are Long Answer type questions. Each
question carries 5§ marks. Answer to these questions shall be written in 120 to
150 words.

(vii) Section E — Questions no. 29 and 30 are Map based questions. Each question
carries 5 marks.

(viii) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice given in the question paper. However, an internal

choice has been provided in few questions in a sections other them Section A.

SECTION A
Questions no. 1 to 17 are Multiple Choice Type Questions. 17x1=17
1. Two statements are given below as I and II. Read both the statements

carefully and choose the correct option :

Statement I : Most of the quaternary activities can be outsourced.

Statement II : These services are not necessarily based on resources and

market.

Options :

(A) Statement I is correct, but Statement II is incorrect.

(B) Statement I is incorrect, but Statement II is correct.

(C) Statements I and II both are correct and Statement II is the
correct explanation of Statement I.

(D) Statements I and II both are correct, but Statement II is not the
correct explanation of Statement I.

2. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option :
Assertion (A) : Manpower is an important component of the service
sector.

Reason (R): Most of the tertiary activities are performed by skilled
labour and professionally trained experts.

Options :

(A)  (A)is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation of (A).

(D) Bfo(til) (A) and (R) are true, but (R) is not the correct explanation

0 .
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Match Column I with Column II and choose the correct option :

Column 1 Column I1
(Industry) (Example)
1 Agro-based (i)  Soaps
2 Forest-based (i1) Salts
3. Chemical-based (ili) Lac
4 Product-based (iv) Vegetable oil
Options :
(A)  1-(iii), 2-(iv), 3-(ii), 4-(1)
(B)  1-(ii), 2-(iv), 3-(i), 4-(ii)
(®) 1-(iv), 2-(ii1), 3-(i1), 4-(1)
(D) 1-(3iv), 2-(ii1), 3-(i), 4-(ii)

Which one of the following types of agriculture is concerned with the
production of a single crop ?

(A) Intensive subsistence agriculture
(B)  Plantation agriculture

(C) Mixed farming
(D) Mediterranean agriculture

‘International Labour Organisation’ initiated which one of the following
approaches of Human Development ?

(A) Income (B) Welfare
(C)  Capability (D) Basic Needs

Read the following factors of migration carefully and choose the correct
option related to ‘push factor’:

I. Peace and stability
II. Protection of property
III. Epidemics

IV. Unpleasant climate

Options :
(A)  Only I and II are correct (B) Only II and III are correct
(C)  Only III and IV are correct (D) Only I and IV are correct

64/3/3-13 5 VWMWY P.T.O.
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Which one of the following waterways is related to United States of

America ?
(A) Danube (B) Volga
(C)  Rhine (D)  Mississippi

Which one of the following is an example of an ‘Oil Port’ ?
(A)  Tripoli (B) Honolulu
(C) Singapore (D)  Kochchi

Read the following sources of land pollution carefully and choose the
correct option :

I. Improper human activities
II. Untreated industrial waste
III. Practice of primitive subsistence agriculture

IV. Use of pesticides and fertilizers

Options :

(A)  Only I, IT and III are correct
(B)  Only II, III and IV are correct
(C)  OnlylI, II and IV are correct
(D)  Only I, III and IV are correct

Which one of the following is an example of solid waste ?
(A) Kitchen discarded items

(B)  Polythene bags

(C) Plant leaves and branches

(D)  Old newspapers

Which of the following are the correct two terminal places of ‘North-South
Corridor’ ?

(A) Srinagar and Kanyakumari
(B)  Delhi and Kanyakumari
(C)  Amritsar and Chennai

(D)  Srinagar and Chennai
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Which of the following sea ports in India has been developed specially to
import petroleum and fertilizers ?

(A)  Mumbai (B) Marmagao
(C) Kandla (D)  Kochchi

Arrange the following commodities of Indian export during 2016 — 17 in
descending order of their percentages and choose the correct option :

I. Crude and petroleum products
II. Manufactured goods
III. Agriculture and allied products

IV. Ore and minerals

Options :
(A) L ILII, IV (B) I I IV, III
(C) ILILI IV (D) ILIILIIV

Match Column I with Column II and choose the correct option :

Column I Column II
(Railway Zones) (Headquarters)
1. North Eastern (i)  Jabalpur
2. West Central (ii) Hajipur
3. East Central (iii) Secunderabad
4, South Central (iv) Gorakhpur
Options :

(A)  1-(1), 2-(iv), 3-(iid), 4-(i1)
(B)  1-(1), 2-(iv), 3~(i1), 4-(iii)
(C)  1-(iv), 2-(1), 3~(i1), 4-(iii)

(D) 1-(v), 2-(1), 3-(1i1), 4-(ii)
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Study the given diagram carefully and answer Q. No. 15 to 17 :

15.

16.

17.

National Waterway

Periyar River

(A) e
attapalli River

Aluva  ygvegamandal Canal

-CEPZ
» Ambalamugal

atiakkayal
Pamba River

W, Ashtamudi Kayal
®)
The given diagram is related to which of the following National
Waterways of India ?
(A) National Waterway Number 2
(B) National Waterway Number 3
(C) National Waterway Number 4
(D) National Waterway Number 5

Mark (A) on the diagram is related to which of the following places ?

(A) Kakinada (B) Dhubri

(C)  Kottapuram (D) Sadiya

Mark (B) on the diagram is related to which of the following places ?
(A) Kollam (B) Haldia

(C)  Dibrugarh (D) Vallamkali

64/3/3-13 11 WAV P.T.O.
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Note: The following questions are for the Visually Impaired Candidates only
in lieu of Q. No. 15 to 17.

15. Which of the following is the longest National Waterway ?
(A) National Waterway Number 1
(B) National Waterway Number 2
(C) National Waterway Number 3
(D) National Waterway Number 4

16. National Waterway Number 2 is related to which of the following rivers ?

(A) Ganga (B)  Periyar
(C)  Brahmaputra (D) Mahanadi
17. Choose the correct option related to the two end points of National
Waterway Number 2.
(A) Prayagraj — Haldia (B)  Godavari — Krishna rivers
(C) Brahmani— Matairivers (D) Sadiya — Dhubri
SECTION B
Questions number 18 and 19 are Source-based Questions. 2x3=6

18. Read the given passage carefully and answer the questions that follow : 3x1=3
Dharavi

There is only one main road that traverses Dharavi, which has been
reduced to less than half of that for most of its length. Some of the side
alleys and lanes are so narrow that not even a bicycle can pass. The
whole neighbourhood consists of temporary buildings, two or three
storeyed high with rusty iron stairways to the upper part, where a single
room is rented by a whole family, sometimes accommodating 10 — 12
people; it is a kind of tropical version of the industrial dwelling of
Victorian London’s East End.

But Dharavi is a keeper of more sombre secrets than the revulsion it
inspires in the rich; a revulsion, moreover, that is, in direct proportion to
the role it serves in the creation of the wealth of Bombay. In this place of
shadowless, treeless sunlight, uncollected garbage, stagnant pools of foul
water, where the only creatures are the shining black crows and long
grey rats, some of the of the most beautiful, valuable and useful articles
in India are made. From Dharavi come delicate ceramics and pottery,
exquisite embroidery and zari work, sophisticated leather goods,
high-fashion garments, finely-wrought metalwork, delicate jewellery
settings, wood carvings and furniture that would find its way into the
houses, both in India and abroad.

64/3/3-13 13 WAV P.T.O.
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(18.1) Describe the physical condition of Dharavi. 1
(18.2) Explain one major problem of Dharavi. 1

(18.3) Explain the main objective of ‘Swachh Bharat Mission’ in the
context of Dharavi. 1

19. Study the given diagram carefully and answer the questions that
follow : 3x1=3

Inland Waterway
_80° 79°30/

2

O

_3” { Ry - N
£ (A)inls NEVHERLANDS |

o

SN

PR

"3%‘ \ ’

i _
f Duisburg G E R M AN Y

S @) Cologne

A
i
P ;
: s

t
L9
Ry

b T

e 2 P Koblenz

; Y L . SR,
A RN SWITzERLAND e
2> (B) z ND e

80° ' TT79°307

(19.1) With which waterway is the given diagram related ? 1

(19.2) Mention the names of places marked (A) and (B) in the given
diagram. 1 + 1 =1

2 2

(19.3) Explain the importance of the waterway given in the diagram. 1

Note: The following question is for the Visually Impaired Candidates only

lieu of Q. No. 19.

19. Mention the name of the canal that links the Mediterranean Sea and the

Red Sea and explain its any two features. 1+2=3

64/3/3-13 15 WAV P.T.O.
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SECTION C

Questions number 20 to 23 are Short Answer Type Questions. 4x3=12

20. “Human Geography is the synthetic study of relationship between human

societies and earth’s surface.” Examine the statement with examples. 3

21. Explain ‘migration’ as a component of population change in the world. 3

22. (a) Describe any three factors responsible for the development of

different types of rural settlements in India. 3
OR

(b) Describe any three characteristics of hamleted settlements in

India. 3
23. (a) “A meaningful life is not just a long one. It must be a life with some
purpose.” Support the statement with examples. 3
OR
(b)  “Development occurs when there is a positive change in quality.”
Support the statement with examples. 3

64/3/3-13 17 WAV P.T.O.
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SECTION D

Questions number 24 to 28 are Long Answer Type Questions. 5xX5=25

24. (a) Explain any five features of ‘mixed farming’ in the world with

examples. 5

OR

(b)  Explain any five features of ‘dairy farming’ in the world, with

examples. 5

25. (a) Describe any five types of ports in the world, on the basis of

specialized functions. 5
OR
(b)  Describe any five basis of international trade in the world. 5

26. (a) Explain any five factors affecting the uneven distribution of

population in India. 5

OR

(b) Explain the main characteristics of the ‘Phase IIT’ (1951 — 81) of

population growth in India. 5

27. Suggest any five measures for conservation of mineral resources in India

and explain them. 5

28. Suggest any five measures for prevention of water pollution in India and

explain them. 5
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J97 G&IT 29 TG 30 FIFl=FT STERT J97 8 | 2x5=10

29. fou T fava & uofifos TEamfs (T5s 25 W), ® @@ Wimifas deon
A, B C,D,E, F3W G &9 H Afha foram mn g | F=faRaa Sweert i
ggdal 9 forgl gier <hl Ug=H <hIfT 3T 39k gat 1| 39k eIy Gl TS

@rell W fafen 5x1=5
A. fate dsw =1 & y@ &=

B. TAITE TIERYT HT Th TI@ &

C. UR-ATSAEH termmt & iR &1 (fiaa) wRIm

D. gferolt SR 1 T T@ G oA

E. TR 1 Ush JYE@ oY Ie

F. Ueh AT STHT

G. U Y@ TuiEsT T8

Fie: HEfcIET J97 Fac giEEana ghanidal & fow yeT g 29 #F 9 R/
&/
[AeafeifEaa 4 @ fa-87 gia g941 & 3o /97 : 5x1=5
(29.1) I R % U yg@ Fater wgw &= &1 am fafeaw |
(29.2) w6 faeqa Mo o $Y % T @ & %1 W R |

(29.3) ‘“UR-ERAfEA wmnt & ufvedft R % (efiFe) wym w1 M
fafEu |

(29.4) SHATST & Uiyt q¢ W oo T yg@ THgt qoH 1 A fafEe |
(29.5) UM % Ush JgQ d1g o+ sl 4 fafay |
(29.6) TS ICHT T FaY ha TRTET & 7 2

(29.7) 3TCATCSHh HEMTR 3T Y HEETR i Siied drefl iaiagd T8t &
T fafgu |
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SECTION E
Questions number 29 and 30 are Map based Questions. 2x5=10
29. On the given political outline map of the World (on page 25), seven

geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5xX1=5
A. A major area of subsistence gathering

B. A major area of nomadic herding

C. Terminal station of Trans-Siberian Railway

D. A major sea port of South America

E. A major airport of Asia

F. An inland waterway

G. A major shipping canal

Note: The following questions are for Visually Impaired Candidates only,
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Name a major area of subsistence gathering of North America.

(29.2) Write the name of a major area of extensive commercial grain

cultivation of Eurasia.
(29.3) Name the western terminal station of “Trans-Siberian Railway’.
(29.4) Name a major sea port located on the western coast of Canada.
(29.5) Write the name of a major airport of Japan.
(29.6) With which continent is Rhine Waterway related ?

(29.7) Name the shipping canal connecting Atlantic Ocean to Pacific

Ocean.
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30. fou T wwa % TSHIfTR W-AERSE (758 27 W), § HHfaRad 9 Wi
agui § ¥ Rl e & e el g sifRa A ok A Am
fefem | 5x1=5

(30.1) ey Y SHEEIT S CINIRISE!

(30.2) =T 3cATed H 3Ol TS

(30.3) hI%I IcUTeT | IO T

(30.4) el : TG SigaTse hl @H
(30.5) ST : d@ SMEHRITAT
(30.6) UNIEIY : Y@ HHI U<

(30.7) &EUETE : @ a1 U<

Fie: [AEliga 37 Fac gieanaa ghenfdal F g 37 a8 30 F T W/
&/
FETfcTiEa 4 & faeg] ie 1 & IR G0 5x1=5

(30.1) a9 HH JTEEIT Icd Il TSI T 9119 ARG |

(30.2) WA 1 hIF-HT TS =T IcdTed H 3ol @ ?

(30.3) %! IcqTeT § 3wt T=F =1 919 feaflgu |

(30.4) el digETEe & @ forg TS | feaa @ 2
(30.5) 3@ TST 1 A foiftgu Sigt <0 9 wnersmen feoa 2 |

(30.6) 3 TS 1 9 feifgw gt urdiv wgl aoH feord 3 |
(30.7) 38 TST 1 W ToAfge STgf oo ag oo fe3a 2 |
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30. On the given political outline map of India (on page 27), locate and label
any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) The state with the lowest level of population density

(30.2) The leading state in the production of sugarcane

(30.3) The leading state in the production of coffee

(30.4) Katni: Major bauxite mines

(30.5) Barauni : Oil refinery

(30.6) Paradwip : Major sea port

(30.7) Hyderabad : Major airport

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state with the lowest level of population density.
(30.2) Which state of India is leading in sugarcane production ?
(30.3) Name the leading state of coffee production.
(30.4) In which state are the Katni bauxite mines located ?
(30.5) Name the state where Barauni Oil refinery is located.
(30.6) Name the state where Paradwip sea port is located.

(30.7) Name the state where Thiruvananthapuram airport is located.
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U9 G, 29 & feru For question no. 29

WORLD-POLITICAL
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For question no. 30

U T IET-AHE (TR )
Outline Map of India (Political)
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